138e

T
I5E

T T T T T
135 30E 135E 138 218

EL 1m THIE

| (BAfE - %)

) 14

31




rer > %1000

N

*322/19 525315

00 %/

Eitedr / fE2E%
I R e

TS (8A)

0.1m?

D O (mg/L)-

TE@6A)

0.5

32

%532719
[
4917

%4 2

]

T %39

T e
410712 %2

« ""‘39 /6 % - 2

ERZS - S <

(0, 1 mEdn o L O R & TR,
TI2 L., HENDEHIIN | Grfdrt B

£F(2R)

0.15m?
15

O (mg/L)-

ZF(2A)

(mg/®) 15




180
160
140
120
100
80
60
40
20

S54 55 56 57 58 59 60 61 62 63 H 2 3 4 5 6 7 8 9 10 11 12 13 14 15

33



¢ S554-58 S59-6 3 mH1-5 H6-10 ® H11-15

mg/€

()]
(@]
@]

1.0

0.0

0.00 0.05 0.10 0.15 0.20 0.25 0.30 0.35 0.40
CoD t/  /km?
® S54-58 S59-6 3 mH1-5 H6-10 ® H11-15

mg/@

[a)]
o
o D |
[ X 2
10 Frmmmmmm e
0.0
0.00 0.05 0.10 0.15 0.20 0.25 0.30 0.35 0.40
CcoD t/  /km’
56 58

34



¢ S54-58 $59-63  m H1-5 H6-10 e H11-15 |

1.4

08 [

0a | A*

02 %

mg/€
H
o

0.0
0.00 0.05 0.10 0.15 0.20 0.25 0.30

t/  /km?

¢ 554-58 S59-63 m H1-5 H6-10 ® H11-15

0.12

0.10

S
0.08 |-
IS

0.06 r

0.04 - ‘/\/\‘

0.02 [ Fe

0.00
0.000 0.005 0.010 0.015 0.020 0.025 0.030 0.035

t/  /km?

35



9.0%
8.0%
7.0%
6.0%
5.0%

4.0% R

3.0%

2.0%

~eo—
1.0% — — —y

0.0% ‘
S54 S59 H1 H6 H11

25.0%
20.0% |
15.0%

10.0% //\/

5.0%

0.0% ‘
S54 S59 H1 H6 H11

36



m>/sec

m>/sec

m3/sec

400
320
240
160

80

900

600

300

80

60

40

20

S54-58 S59-63 H1-5 H6-10 H11-15

S54-58 S59-63 H1-5 H6-10 H11-15

1 4.0
71 3.0
-1 2.0
1 1.0
0.0
S54-58 S59-63 H1-5 H6-10 H11-15
56 58

37

3/6w

3/bw

3/0w



400

m>/sec

300

200

100

S54-58 S59-63 H1-5 H6-10 H11-15

1,000

m>/sec

750

500

250

S54-58 S59-63 H1-5 H6-10 H11-15

56 58

m?)

13 20

38






